Weekly Homework





Name ____________________________________

Monday, March 4

1.                                                                                          
2.    


                                                                    


4.  


3.
List the first five multiples for 6 and 9.     6 = ___________________________   9   = _______________________
The LCM for 6 and 9 is ________.    When would you use this information? ________________________

Tuesday, March 5

1.                                                                              

   2.                                                                              





3.                                                                                                   4.                                                                            
4.
If n = ( , then 4 x n = _________                                    If n = ( , then 4 ÷ n =  ___________    
Weekly Homework





Name ____________________________________
Wednesday, March 6
1.           
3.
                                                                    


4.  

Evaluate:   [(6x15)÷9] - ((6) = _______                 27 – 13 + [4(3²+2)] – 6 = _______


Thursday, March 7
1.                                                                                             2.



3.                                                                                            4.  
If s = 7, then (56 ( s) + 9 = ______    If s = 4, then (56 ( s) + 9 = ______   If s = 16, then (56 ( s) + 9 = ______    
Mom made 60 cookies.  1/5 of the cookies were oatmeal raisin.  1/2 of the remaining cookies were chocolate chip. 1/3 of the remaining cookies were toffee chip.  The rest of the cookies were pecan snaps.  How many pecan snaps did mom make?














	








Find the sum of 16( and 9(.    _______




















Find the difference between 16( and 9(.   ________








The Cake Boss is busy again making cheesecakes.  Each recipe uses 2( cup of cream cheese.  He is making 9 cheesecakes.  How much cream cheese will he use?


Find the answer using two different strategies.


        Strategy 1			         Strategy 2


























Create a model to show:


( x ( = ______
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The weight of Bag A is 2( times greater than the weight of Bag B.  Bag B weighs 5 pounds.  How much does Bag A weigh? 


Use two different strategies to find the answer.


     Strategy 1			    Strategy 2














Write 9( as an improper fraction. ____________








Write 4(9 as a fraction.  ___________








Write 10/8 as a mixed number.  ______ or _______








Blast from the past!  Compare the US dollar to the Euro by completing the chart below.   


1 USD = .75 Euro


USD�
Euro�
�
$.10�
�
�
$1�
.75 Euro�
�
$10�
�
�
$100�
�
�
$1000�
�
�
$10,000�
�
�






Solve for m.                                   Solve for w.


( x m = 1                       3/4 x w = 12/16















































2. Jerry’s Print Shop rents computer time at $2 for each 1/6 of an hour.  Dana rents a computer for 3/6 of an hour on Wednesday and for 2/6 of an hour on Thursday.  She pays for the rental using a $10 bill.  How much change should she receive?





     A.  $0       B.  $1         C. $2           D.  $4











Use the grid to show a model of:  .5 x .8 = _____
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What is the value of the expression:





      6x + 10 if x = 5?  __________

















In the equation y = 4x – 2, what is the value of y 


if x has the value of 7? __________








Complete the following using mental math.








79 x .1 = ______	     79 ( .1 = _______


79 x .01 = _______	     79 ( .01 = ______


79 x .001 = _______        79 ( .001 = _____


What do you notice?





Suzy baked a loaf of banana bread.  She took 1/2 of the loaf to school to share equally among six friends.  What fraction of the loaf will each friend get?  Use the rectangle below to show your thinking.  


(Model represents the loaf of banana bread.)
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Solve for n.  36n = 504      n = _______

















Solve for p.    p ÷2.5 = 73 	p = ________




















Which number sentence shows one way to multiply .25 x 0.7?





(25 x 0) + (25 x 7)





(.2 x 0.7) + (.05 x 0.7)





(2 x 7) + (5 x 7)





(25 x 0) + (25 x .7)








It is 4/5 mile from Jessica’s house to Isabella’s house.  Jessica has walked ½ mile.  How much farther does she have to walk to get to Jessica’s house?


























